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Guess Paper – 2008

Class – XII
Subject – Mathematics
       Time: 3 Hours




                Max. Marks: 100

       General Instructions:

1. All questions are compulsory.

2. The question paper consists of 29 questions divided into three sections A, A, and C.  Section a comprises of 10 questions of one mark each, section B comprises of 12 questions of four marks each and section C comprises of 07 questions of six marks each.
3. All questions in Sec: A are to be answered in one word, one sentence or as per the exact requirement of the question.
4. There is no overall choice.  However, internal choice has been provided in 04 questions of 04 marks each and 02 questions of six mark each.  You have to attempt only one of the alternatives in all such questions.
5. Use of calculators is not permitted.  You may ask for logarithmic tables, if required.
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1. Give an example of a relation which is symmetric and neither reflexive nor transitive.
2. Evaluate (i)  Cos (Cos-1( -1/2))  (ii) Sin-1(sin2 Π/3)
3. 
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4. If A is a matrix of order 3 X 4 , B is a matrix such that AB’ and BA’ both exist then 
     find the order of the matrix B.
5. Using determinants, if the points (2,-3), (λ,-1) and (0,4) are collinear, find λ    
6. 
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7. 
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8. If 
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10.
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SECTION:B

11.  Consider f: R→[-5,∞] given by f(x) = 9x2+6x-5, Show that f is invertible and hence   

             find  f-1.

12. 
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  Prove that 9x2-12xycosθ +4y2 = 36 sin2θ     
OR
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13. 
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14. 
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15. Differentiate (xcosx)x+(xsinx)1/x with respect to x.


16. If x = a(cosθ+θsinθ) ; y = a(sinθ-θcosθ) , find d2y/dx2 

17. 
[image: image14.wmf]dx

x

x

Evaluate

)

tan

cot

(

+

ò

    
(OR)
           
[image: image15.wmf]ò

+

+

2

0

2

)

4

)(

2

(

8

x

x

dx

Find


      18. 
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     19. The population of a village increases at the rate proportional to the number of its inhabitants present at any time.  If the population of a village was 20,000 in 1999 and 25000in the year 2004, what will be the population of the village in 2009?
   
20. Find the vector of magnitude 5 units in the direction  perpendicular to the vectors   
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21. 
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OR
             Find the equation of the plane passing through the point (-1,3,2) and perpendicular to 
           each of the planes x+2y+3z = 5 and 3x+3y+z = 7.

    22. The probabilities of A, B, C solving a question are 1/2, 2/7 and 3/8 respectively. A 
         question is taken at random, Find  the probability that at least two of them will  

         solve it.
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    23. Given that A = 
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Use this to solve the following system of linear equations:    x-y + z=4; x-2y-2z=9; 2x+y+3z=1
    24. Prove that the ratio of the volume of the largest cone that can be inscribed in a 

         sphere of radius R to the volume of the sphere is 8:27.
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OR
 A window is in the form of a rectangle surmounted by a semicircular opening.  The total perimeter of the window is 10m.  Find the dimensions of the window to admit maximum sunlight through the whole opening.

     25.    
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    26. 
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    27. Find the image of the point (1, 6,3) in the line  
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(OR)
             Find the distance of the point (2,3,4) from the plane 3x+2y+2z+5 = 0 measured   

             parallel to the line  
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28. A company has two plants to manufacture scooters.  Plant-I manufactures 70% of the scooters and Plant II manufactures 30%.  At plant –I, 80% of the scooters are rated of standard quality and at plant-II, 90% of the scooters are rated of standard quality.  A scooter is chosen at random and is found to be of standard quality.  Find the probability that it has come from Plant-II.
29. Two godowns A and B have grain capacity of 100quintals and 50 quintals respectively.  They supply to 3 ration shops, D, E and F, whose requirements are 60,50 and 40 quintals respectively.  The cost of transportation per quintal from the godowns to  the shops are given below:

Transportation cost per quintal (in Rs.)
	From/To
	A
	B

	D
	6
	4

	E
	3
	2

	F
	2.50
	3


How should the supplies be transported in order that the transportation cost is minimum cost?
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